



CMJ EMERGENCY LIGHTING

175 S 11th St Unit 3
 Lindenhurst, NY 11757
 +15162343588

Customerservice@cmjemergencylighting.com

www.facebook.com/cmjlighting

ADDRESS

ANDREW RAYFIELD
 CITY OF DELRAY BEACH
 434 S SWINTON AVENUE
 DELRAY BEACH, FL
 33444

SHIP TO

ANDREW RAYFIELD
 CITY OF DELRAY BEACH
 434 S SWINTON AVENUE
 DELRAY BEACH, FL
 33444

Estimate 5087

DATE 11/18/2025

DATE	DESCRIPTION	QTY	RATE	AMOUNT
EB2SP3* - PROMO	WHELEN LEGACY DUO WECANX SERIES LIGHT BAR, 54"	1	3,400.00	3,400.00
C399	WHELEN CENCOM CORE	1	0.00	0.00
CCTL6	WHELEN CENCOM CORE CONTROL HEAD, ROTARY KNOB	1	0.00	0.00
SA315P	WHELEN 100 WATT SIREN SPEAKER, BLACK	1	0.00	0.00
SAK75	WHELEN SIREN SPEAKER BRKT, 2025 EXPLORER	1	0.00	0.00
SA315P	WHELEN 100 WATT SIREN SPEAKER, BLACK	1	206.00	206.00
SAK75	WHELEN SIREN SPEAKER BRKT, 2025 EXPLORER	1	0.00	0.00
CEXAMP	WHELEN WECAN X EXTERNAL AMPLIFIER	1	0.00	0.00
CV2V	WHELEN CENCOM CORE VEHICLE TO VEHICLE SYNC MODULE, INCLUDES ANTENNA	1	0.00	0.00
CEM16	WHELEN WECAN X EXPANSION MODULE, 16 OUTPUT	1	157.68	157.68
C399SP	WHELEN CORE SCANPORT	1	0.00	0.00

DATE	DESCRIPTION	QTY	RATE	AMOUNT
PSJC3FCR	WHELEN STRIP LIGHT PLUS SERIES LED, TRIO R/B/W	2	125.82	251.64
PSBKT90	WHELEN 90 DEGREE ANGLE BRKT, STRIP LITE PLUS	2	18.56	37.12
RPWD50	WHELEN REAR PILLAR LIGHTS, 2020 FORD EXPLORER, SOLO	1	999.34	999.34
BK2019ITU20	SETINA LIGHTED PUSH BUMPER FOR 2020-2021 INT UTILITY, INCLUDES 4 WHELEN IONS	1	999.00	999.00
CCTL5	WHELEN CENCOM CORE CONTROL HEAD, HANDHELD	1	255.42	255.42
SPECIAL ORDER ITEM	SPECIAL ORDER ITEM - THIS ITEM IS NON-CANCELLABLE AND NON RETURNABLE	1	7.50	7.50
	CCTLHARN			
3SRCCDCR	WHELEN 3" ROUND COMPARTMENT LIGHT, RED/WHITE	1	60.32	60.32
TCRWX5	WHELEN WECANX TRACER, 5 LAMP HOUSING	2	633.42	1,266.84
TCRWXPJC	WHELEN TRACER WECANX MODULE, TRIO R/B/W	10	31.32	313.20
TCRB50	WHELEN 2020-21 FORD INT UTILITY TRACER BRACKET, SOLD SEPERATELY	2	29.58	59.16
TLI3JC	WHELEN T-ION TRIO R/B/W	10	119.34	1,193.40
C-VS-1012-INUT-2	HAVIS VEHICLE SPECIFIC CONSOLE, 2020+ FORD INT UTILITY	1	507.00	507.00
CUP2-1001	HAVIS NEW SELF ADJUSTING CUP HOLDER	1	52.50	52.50
C-ARM-103	HAVIS ARM REST	1	161.25	161.25
C-AP-0325	HAVIS ACCESSORY POCKET, 3"	1	39.75	39.75
C-MD-119	HAVIS 11" Slide Out Locking Swing Arm with Low Profile Motion Device Adapter	1	284.25	284.25
C-PM-134-PC	BROTHER POCKETJET 8 PRINTER MOUNT	1	274.25	274.25
MAGMICCLIP	MAGNETIC MIC CLIP	1	49.00	49.00

DATE	DESCRIPTION	QTY	RATE	AMOUNT
	PRPS4714UJINT20A PROGARD EXPLORER POLY CENTER SLIDING WINDOW	1	924.00	924.00
	SPECIAL ORDER ITEM SPECIAL ORDER ITEM - THIS ITEM IS NON- CANCELLABLE AND NON RETURNABLE	1	38.25	38.25
	DPCP47UJINT20 - PROGARD DOOR PANEL COVER PLATES, SET			
	SPECIAL ORDER ITEM SPECIAL ORDER ITEM - THIS ITEM IS NON- CANCELLABLE AND NON RETURNABLE	1	392.25	392.25
	RWG47UJINT20A - REAR WINDOW GUARDS			
	SPECIAL ORDER ITEM SPECIAL ORDER ITEM - THIS ITEM IS NON- CANCELLABLE AND NON RETURNABLE	1	1,682.25	1,682.25
	S4704UJINT20OSB - PROGARD STANDARD TRANSPORT SEAT AND REAR CARGO BARRIER, OUTBOARD SEAT BELTS			
	WB47NPUJINT20 PROGARD WINDOW GAURDS, INT UTILITY	1	247.25	247.25
	CG-X HAVIS CHARGE GAURD	1	83.25	83.25
	HSN4038 IN CAB SPEAKER FOR SIREN VOICE MESSAGES	1	75.00	75.00
	VEHGRAPHICS VEHICLE GRAPHICS AS PER PRE-APPROVED DESIGN	1	1,055.00	1,055.00
	GRAPHICS INSTALLED AND PRINTED BY GDI			

DATE	DESCRIPTION	QTY	RATE	AMOUNT
	SPECIAL ORDER ITEM SPECIAL ORDER ITEM - THIS ITEM IS NON-CANCELLABLE AND NON RETURNABLE PKG-SBX-INUT-102 - HAVIS Basic Single Medium Drawer Package for 2020-2025 Ford Interceptor Utility 40" X 20" WITH LOCK INCLUDES RAISED MOUNTING BASE	1	1,823.25	1,823.25
	PROKIT-2 Adapter Kit for Pro-Gard Partition to Havis TTP	1	25.50	25.50
	SPECIAL ORDER ITEM SPECIAL ORDER ITEM - THIS ITEM IS NON-CANCELLABLE AND NON RETURNABLE STINGER LED FLASHLIGHT WITH CHARGER	1	225.00	225.00
	LB3692 BROTHER POCKET JET VEHICLE WIRING KIT	1	34.50	34.50
	WIREKIT ALL NECESSARY FUSES, RELAYS, WIRE, ETC FOR FULL INSTALLATION	1	650.00	650.00
	INSTALLATION INSTALLATION OF ALL ABOVE EQUIPMENT AND CUSTOMER SUPPLIED AXON SYSTEM, RADIO, HAVIS DOCKING STATION AND PRINTER.	1	3,450.00	3,450.00
	frt ALL FREIGHT CHARGES ARE INCLUDED OR AT NO CHARGE.	1	0.00	0.00
	CREDIT MEMO Quantity Discount	1	-1,500.00	-1,500.00

CMJ UPFITS ONLY INCLUDE THE INSTALLATION OF MOBILE RADIOS. WE DO NOT SERVICE THESE RADIOS AND THEY MUST BE SERVICED BY AN AUTHORIZED KENWOOD OR MOTOROLA DEALER. ALL RADIO PARTS ARE TO BE SUPPLIED BY THE CUSTOMER UNLESS OTHERWISE NOTED.

SUBTOTAL 19,780.12
TAX 0.00

Thank you for the business. Please keep us in mind for all of your future Whelen, Havis, Pro-gard, or Command Box needs.

Did you know?

CMJ is a Ford Certified QVM upfitter and a Ford Drop Ship Location. Ask your salesman for more details.

FSA CONTRACT HCS-ESA2.0

TOTAL	\$19,780.12
-------	--------------------

Accepted By

Accepted Date



CMJ EMERGENCY LIGHTING

175 S 11th St Unit 3
 Lindenhurst, NY 11757
 +15162343588

Customerservice@cmjemergencylighting.com

www.facebook.com/cmjlighting

ADDRESS

ANDREW RAYFIELD
 CITY OF DELRAY BEACH
 434 S SWINTON AVENUE
 DELRAY BEACH, FL
 33444

SHIP TO

ANDREW RAYFIELD
 CITY OF DELRAY BEACH
 434 S SWINTON AVENUE
 DELRAY BEACH, FL
 33444

Estimate 5100

DATE 11/21/2025

DATE	DESCRIPTION	QTY	RATE	AMOUNT
BSFW508	WHELEN WECANX FST INNER EDGE, 2021 INTERCEPTOR UTILITY	1	3,200.00	3,200.00
C399	WHELEN CENCOM CORE	1	0.00	0.00
CCTL6	WHELEN CENCOM CORE CONTROL HEAD, ROTARY KNOB	1	0.00	0.00
SA315P	WHELEN 100 WATT SIREN SPEAKER, BLACK	1	0.00	0.00
SAK75	WHELEN SIREN SPEAKER BRKT, 2025 EXPLORER	1	0.00	0.00
SA315P	WHELEN 100 WATT SIREN SPEAKER, BLACK	1	206.00	206.00
SAK75	WHELEN SIREN SPEAKER BRKT, 2025 EXPLORER	1	0.00	0.00
CEXAMP	WHELEN WECAN X EXTERNAL AMPLIFIER	1	0.00	0.00
CV2V	WHELEN CENCOM CORE VEHICLE TO VEHICLE SYNC MODULE, INCLUDES ANTENNA	1	0.00	0.00
CEM16	WHELEN WECAN X EXPANSION MODULE, 16 OUTPUT	1	157.68	157.68
C399SP	WHELEN CORE SCANPORT	1	0.00	0.00

DATE	DESCRIPTION	QTY	RATE	AMOUNT
PSJC3FCR	WHELEN STRIP LIGHT PLUS SERIES LED, TRIO R/B/W	2	125.82	251.64
PSBKT90	WHELEN 90 DEGREE ANGLE BRKT, STRIP LITE PLUS	2	18.56	37.12
RPWD50	WHELEN REAR PILLAR LIGHTS, 2020 FORD EXPLORER, SOLO	1	999.34	999.34
BK2019ITU20	SETINA LIGHTED PUSH BUMPER FOR 2020-2021 INT UTILITY, INCLUDES 4 WHELEN IONS	1	999.00	999.00
CCTL5	WHELEN CENCOM CORE CONTROL HEAD, HANDHELD	1	255.42	255.42
SPECIAL ORDER ITEM	SPECIAL ORDER ITEM - THIS ITEM IS NON-CANCELLABLE AND NON RETURNABLE	1	7.50	7.50
	CCTLHARN			
3SRCCDCR	WHELEN 3" ROUND COMPARTMENT LIGHT, RED/WHITE	1	60.32	60.32
TCRWX5	WHELEN WECANX TRACER, 5 LAMP HOUSING	2	633.42	1,266.84
TCRWXPJC	WHELEN TRACER WECANX MODULE, TRIO R/B/W	10	31.32	313.20
TCRB50	WHELEN 2020-21 FORD INT UTILITY TRACER BRACKET, SOLD SEPERATELY	2	29.58	59.16
TLI3JC	WHELEN T-ION TRIO R/B/W	12	119.34	1,432.08
U180JC	WHELEN U SERIES LIGHTHEAD , TRIO, R/B/C	2	185.00	370.00
U18050	WHELEN U SERIES BRACKETS, PAIR, INT UTILITY	1	18.90	18.90
C-VS-1012-INUT-2	HAVIS VEHICLE SPECIFIC CONSOLE, 2020+ FORD INT UTILITY	1	507.00	507.00
CUP2-1001	HAVIS NEW SELF ADJUSTING CUP HOLDER	1	52.50	52.50
C-ARM-103	HAVIS ARM REST	1	161.25	161.25
C-AP-0325	HAVIS ACCESSORY POCKET, 3"	1	39.75	39.75
C-MD-119	HAVIS 11" Slide Out Locking Swing Arm with Low Profile Motion Device Adapter	1	284.25	284.25

DATE	DESCRIPTION	QTY	RATE	AMOUNT
C-PM-134-PC	BROTHER POCKETJET 8 PRINTER MOUNT	1	274.25	274.25
MAGMICCLIP	MAGNETIC MIC CLIP	1	49.00	49.00
PRPS4714UUINT20A	PROGARD EXPLORER POLY CENTER SLIDING WINDOW	1	924.00	924.00
SPECIAL ORDER ITEM	SPECIAL ORDER ITEM - THIS ITEM IS NON- CANCELLABLE AND NON RETURNABLE	1	38.25	38.25
	DPCP47UUINT20 - PROGARD DOOR PANEL COVER PLATES, SET			
SPECIAL ORDER ITEM	SPECIAL ORDER ITEM - THIS ITEM IS NON- CANCELLABLE AND NON RETURNABLE	1	392.25	392.25
	RWG47UUINT20A - REAR WINDOW GUARDS			
SPECIAL ORDER ITEM	SPECIAL ORDER ITEM - THIS ITEM IS NON- CANCELLABLE AND NON RETURNABLE	1	1,682.25	1,682.25
	S4704UUINT20OSB - PROGARD STANDARD TRANSPORT SEAT AND REAR CARGO BARRIER, OUTBOARD SEAT BELTS			
WB47NPUUINT20	PROGARD WINDOW GAURDS, INT UTILITY	1	247.25	247.25
CG-X	HAVIS CHARGE GAURD	1	83.25	83.25
HSN4038	IN CAB SPEAKER FOR SIREN VOICE MESSAGES	1	75.00	75.00
VEHGRAPHICS	VEHICLE GRAPHICS AS PER PRE-APPROVED DESIGN	1	1,055.00	1,055.00
	GRAPHICS INSTALLED AND PRINTED BY GDI			

DATE	DESCRIPTION	QTY	RATE	AMOUNT
SPECIAL ORDER ITEM	SPECIAL ORDER ITEM - THIS ITEM IS NON-CANCELLABLE AND NON RETURNABLE PKG-SBX-INUT-102 - HAVIS Basic Single Medium Drawer Package for 2020-2025 Ford Interceptor Utility 40" X 20" WITH LOCK INCLUDES RAISED MOUNTING BASE	1	1,823.25	1,823.25
PROKIT-2	Adapter Kit for Pro-Gard Partition to Havis TTP	1	25.50	25.50
SPECIAL ORDER ITEM	SPECIAL ORDER ITEM - THIS ITEM IS NON-CANCELLABLE AND NON RETURNABLE STINGER LED FLASHLIGHT WITH CHARGER	1	225.00	225.00
LB3692	BROTHER POCKET JET VEHICLE WIRING KIT	1	34.50	34.50
WIREKIT	ALL NECESSARY FUSES, RELAYS, WIRE, ETC FOR FULL INSTALLATION	1	650.00	650.00
INSTALLATION	INSTALLATION OF ALL ABOVE EQUIPMENT AND CUSTOMER SUPPLIED AXON SYSTEM, RADIO, HAVIS DOCKING STATION AND PRINTER.	1	3,450.00	3,450.00
frt	ALL FREIGHT CHARGES ARE INCLUDED OR AT NO CHARGE.	1	0.00	0.00
CREDIT MEMO	Quantity Discount	1	-2,500.00	-2,500.00

CMJ UPFITS ONLY INCLUDE THE INSTALLATION OF MOBILE RADIOS. WE DO NOT SERVICE THESE RADIOS AND THEY MUST BE SERVICED BY AN AUTHORIZED KENWOOD OR MOTOROLA DEALER. ALL RADIO PARTS ARE TO BE SUPPLIED BY THE CUSTOMER UNLESS OTHERWISE NOTED.

SUBTOTAL 19,207.70
TAX 0.00

Thank you for the business. Please keep us in mind for all of your future Whelen, Havis, Pro-gard, or Command Box needs.

Did you know?

CMJ is a Ford Certified QVM upfitter and a Ford Drop Ship Location. Ask your salesman for more details.

FSA CONTRACT HCS-ESA2.0

SGT BUILDS

TOTAL	\$19,207.70
-------	--------------------

Accepted By

Accepted Date